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AN
SECTION - ‘A’ (carry one mark each L 4B \ -
1. Can the decimal expansion of an irrational number be: ‘V
(a) Terminating (b) non-terminating recurring N '
y
(c) Both of them (d) none of these v’
2. The zeroes oft he polynomial x* + 2x + 3 are: \
(@) —2,-1 (b) 2,—1 '
(c) 3,—1 (d) none of these
3. The perimeter of two similar A's ABC and PQR are respectively 36cm and 24 :ﬁm, then AB is equal to:
(a) 12cm (b) 15cm N
(c) 18cm (d) 20cm N v
4. If sin®0 = %, then 8 is equal to: N
(a) 60° (b) 90°
(c) 45° (d) 30° v
5. If sinf + cos@ = V2 sin(90 — ), then cot® is :
(a) v2-1 (b)
() —vV2-1 ( none’of these
6. If 4sinA = 3cosA, then the value of 5sinA + 5c¢
(a) 7 %
(c) 12
7. Given that HCF(336,54) = 6, then L@‘L)IS
(a) 3014 (b) 3034
(c) 3024 3104
8. For what value of 'd’, the sys@ear equatlons ax+3y =a—3;12x + ay = a has no solution:
(@) 6 L/ (b) 3
() 7 \ (d) —6
M cot15°cot60°cot75°cot80°cot85°
9. The value of is equal to:
@ (c05220°+c05270°)+2
V3 V3
(@) (b) =
(d) none of these
10. Mtween mean, median and mode is:

dian = 3Mode — Mean (b) Median = 3Mode — 2Mean

vgode = 3Median — 2Mean (d) All of these
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SECTION - ‘B’ (carry two marks each

y N

%
Roma has to make gift hampers out of 40 watches. 24 i-pods and 16 cell phones. 1he gift
hampers are identical and contain at least one of each things. Find the maximum number
of such gift hampers she can make without leaving anything?

.

A
4 y
Find a quadratic polynomial whose zeroes are 3 + /5. N \
Find x and y. .
Xty =7 .-'.—_|'=6

xy xy

Find the value of:

I\%
! ’
% B
If the areas of two similar triangles are equal, prove t% are congruent.
E is a point on the side AD produced of a parallelogram A and BE intersects CD at F. Show that AABE ~ ACFB

3
cot @+ cosec 0; if cos 0= z

Or

sin? 20 °+ sin?70° — tan?45°

100 surnames were randomly picke

' @ a lataphone directory and the freqcy distribution
of the number of letters in the Engli ]

betthe surnames was obtained as foll

Number of letters = 7-10]10-13)| 13 -16| 16— 19

Number of sur 40

f letters in thsurnames?

Find the medlamﬁ
The followin ives the literacy rate (in pemtage) of 35 cities. Find the mean literacy

eracy rate(in %) | 45 - 55| 55 - 65| 65 - 75| 75 - 85| 85— 9¢

Number of cities 3 10 11 8 3
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SECTION - ‘C’ (carry three marks each ey
l o
19. Find the greatest integer on dividing 394, 436, 542 leaves remainder 3, 11 and 15 respectively. \ ) |
20. Prove that /2 is an irrational number. ' L \ -
Or A N
A 4

Prove that 2 + /3 is an irrational number.
21. The area of a rectangle gets reduced by 80 sq. units if its length is reduced by 5 units &Areat is increased by

2 units. If we increase the length by 10 units & decrease the breath by 5 units, the area is w&ased by 50 sq.
units. Find the length & breadth of the rectangle N V

Or ,

Two places A & B are 120 km apart from each other on a highway. A caf starts A & another from B at
the same time. If they move in the same direction, they meet in 6 & if they move in opposite
directions, they meet in 1 hour & 12 minutes. Find the speed C

. . . . v
22. Find a quadratic polynomial whose one zero is3 — /5 zeroes is 4 .

23. Prove that

tan?A + cot? A+ 2 = sec? A cosec? A
24. Prove that:

sinA+cosA+sinA—cosA 2
sinA —cosA sinA+ cosA "~ 1—2cos?2A
25. Prove that the sum of the squares of the si f rhombus is equal to the sum of the squares of its diagonals.

AB? + BC? + 2BC.BD.
L 3

26. In the given figure, ABCGW I;Whi*LABC> 90° and ADL CB produced. Prove that /% =

A




i
I~ \

\

@ u

28.

S Ashwani Gupta

WWWW AshwaniGuptaMaths.weebly.com 9810817270
ta.ashwaniS0@gmail.com 9540258238
27.1f the median of the distribution is given below2i8.5, find the values « andy.
Classinterval | F l‘h‘
assinterv requen
ailied AN
_ T\ A4
0-10 5 Y
A 4
10-20 X A m
v’
20 - 30 20 \
30 - 40 15 |
4
50 - 60 5 - v
Total N
L 4
The following table gives production yield per% eat of 100 farms of a villag
Production yield (in kg/ha) | 50 — 55| 55 - 60 -65|65-70|70-75|75-80
Number of farms 2 12 24 38 16

Change the distribution to a more“ distrdm and draw ogiv

plx)=x"=3x" +4x+5,

30. Prove that:

S*i!!ﬁS‘D' (carry four marks each)
29. Divide the polynomialp(xy%

polynomial g(x) and find the quotient and remainder
(x)=x"+1-x

>

1

14+ siné

tan @ +
t% 0+1

smé’— cos@
1+ sin @ + cos@

) -

cos @

Or

1 — cosé@
1+ cos @
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31.Prove that the ratio of the areas of two similemgles is equal to the squ:of the ratio of thei
corresponding medians.

OR AN

Prove that the area of an equilateral triangle ril@sd on one side of a square is equa alfaw of the
equilateral triangle described on one of its diad® V

A
&8
32. If A= 60° and B=30°, verify that \
(i) cos(A—B)=cosAcosB + sinAsinB
(ii) sin(A+B) = sinAcosB + cos AsinB e

33. "

Solve the following equations of system graphically. Also, find the co ordinates of the points where the line

meets at y-axis:
2€{x-1) = y; ¥ + 3y = 15

4
weights wercerded as follow:

34.During the medical checiap of 35 students of a

ass than 5
than 4 9

L 4
\ Less than 4 14
Q Less than 4 28
@ Less than 5 32
Less than 5 35

an typmglve for the given data. Hence obtain the mediaigkat from the graph verify the res
e formula.
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. xP—6x+4
.x=4,y=5

20RO

. To prove

To prove
8.05
69.43%
17

To prove

To prov

\ g
. Length = 40m brw = 30m OR 60km/hr,40km/hr
. x’—6x +4

. To prove 00
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28.

29. Quotient = x*+x — 3 and remainder = 8 D

0

——
frequency (cf)
B e de in g
= CIJ =

Cumulative
=

h

-

30. To prove

31. To prove

32. To prove

01730 55 60 65 70 75

Lower class limits—»

33. Toplotin graph

34.
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